

Simplifier le plus possible l'écriture des expressions :

$$2 \times x = 2x$$

$$y \times 3 = 3y$$

$$a \times b \times c = abc$$

$$4 \times a \times 5 = 20a$$

$$4h + 9h = 13h$$

$$4 \times (a - b) = 4(a - b)$$

$$(4 - x) \times 7 = 7(4 - x)$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) = 4(4 - a) + a(8 - 4x)$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t = 8(7 - 3x) - 4yt$$

$$a \times a = a^2$$

$$2 \times b \times b = 2b^2$$

$$5t \times 8t \times t = 40t^3$$

$$c \times c \times c \times 3 = 3c^3$$

$$a \times a + b \times b = a^2 + b^2$$

$$5h \times 7h \times d = 35h^2d$$

$$a \times b \times a = a^2b$$

$$x \times y \times x \times y \times x = x^3y^2$$

$$x \times x \times (y - 4 \times x) = x^2(y - 4x)$$

$$7 \times (x - 3 \times x \times x) = 7(x - 3x^2)$$

$$7x \times x = 7x^2$$

$$ab \times ab = a^2b^2$$

$$a \times b \times a \times b \times a = a^3b^2$$

$$2 \times t \times m = 2tm$$

$$y \times 5 \times h = 5yh$$

$$a^2 \times b^3 \times c = a^2b^3c$$

$$4 \times a \times a^3 = 4a^4$$

$$4a - 3 \times a = 4a - 3a = a$$

$$5x^2 - x \times 3x = 2x^2$$

$$a^2b \times ab^2 = a^3b^3$$

$$2h + 6 \times h - 3h = 5h$$

$$(2 + y \times y) \times 3 \times (t + t - 3) = 3(2 + y^2)(2t - 3)$$

$$d \times (3d + 5d) = d \times 8d = 8d^2$$

$$5 \times h \times h - 2 \times h \times h = 5h^2 - 2h^2 = 3h^2$$

$$4 - (a \times b + 7) = 4 - (ab + 7)$$

$$a \times b \times (c - d) + (2 - a) \times 3 = ab(c - d) + 3(2 - a)$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) = 6x(5 - x) + 4(2 - x)$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x = 2x$$

$$y \times 3 = 3y$$

$$a \times b \times c = abc$$

$$4 \times a \times 5 = 20a$$

$$4h + 9h = 13h$$

$$4 \times (a - b) = 4(a - b)$$

$$(4 - x) \times 7 = 7(4 - x)$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) = 4(4 - a) + a(8 - 4x)$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t = 8(7 - 3x) - 4yt$$

$$a \times a = a^2$$

$$2 \times b \times b = 2b^2$$

$$5t \times 8t \times t = 40t^3$$

$$c \times c \times c \times 3 = 3c^3$$

$$a \times a + b \times b = a^2 + b^2$$

$$5h \times 7h \times d = 35h^2d$$

$$a \times b \times a = a^2b$$

$$x \times y \times x \times y \times x = x^3y^2$$

$$x \times x \times (y - 4 \times x) = x^2(y - 4x)$$

$$7 \times (x - 3 \times x \times x) = 7(x - 3x^2)$$

$$7x \times x = 7x^2$$

$$ab \times ab = a^2b^2$$

$$a \times b \times a \times b \times a = a^3b^2$$

$$2 \times t \times m = 2tm$$

$$y \times 5 \times h = 5yh$$

$$a^2 \times b^3 \times c = a^2b^3c$$

$$4 \times a \times a^3 = 4a^4$$

$$4a - 3 \times a = 4a - 3a = a$$

$$5x^2 - x \times 3x = 2x^2$$

$$a^2b \times ab^2 = a^3b^3$$

$$2h + 6 \times h - 3h = 5h$$

$$(2 + y \times y) \times 3 \times (t + t - 3) = 3(2 + y^2)(2t - 3)$$

$$d \times (3d + 5d) = d \times 8d = 8d^2$$

$$5 \times h \times h - 2 \times h \times h = 5h^2 - 2h^2 = 3h^2$$

$$4 - (a \times b + 7) = 4 - (ab + 7)$$

$$a \times b \times (c - d) + (2 - a) \times 3 = ab(c - d) + 3(2 - a)$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) = 6x(5 - x) + 4(2 - x)$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x = 2x$$

$$y \times 3 = 3y$$

$$a \times b \times c = abc$$

$$4 \times a \times 5 = 20a$$

$$4h + 9h = 13h$$

$$4 \times (a - b) = 4(a - b)$$

$$(4 - x) \times 7 = 7(4 - x)$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) = 4(4 - a) + a(8 - 4x)$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t = 8(7 - 3x) - 4yt$$

$$a \times a = a^2$$

$$2 \times b \times b = 2b^2$$

$$5t \times 8t \times t = 40t^3$$

$$c \times c \times c \times 3 = 3c^3$$

$$a \times a + b \times b = a^2 + b^2$$

$$5h \times 7h \times d = 35h^2d$$

$$a \times b \times a = a^2b$$

$$x \times y \times x \times y \times x = x^3y^2$$

$$x \times x \times (y - 4 \times x) = x^2(y - 4x)$$

$$7 \times (x - 3 \times x \times x) = 7(x - 3x^2)$$

$$7x \times x = 7x^2$$

$$ab \times ab = a^2b^2$$

$$a \times b \times a \times b \times a = a^3b^2$$

$$2 \times t \times m = 2tm$$

$$y \times 5 \times h = 5yh$$

$$a^2 \times b^3 \times c = a^2b^3c$$

$$4 \times a \times a^3 = 4a^4$$

$$4a - 3 \times a = 4a - 3a = a$$

$$5x^2 - x \times 3x = 2x^2$$

$$a^2b \times ab^2 = a^3b^3$$

$$2h + 6 \times h - 3h = 5h$$

$$(2 + y \times y) \times 3 \times (t + t - 3) = 3(2 + y^2)(2t - 3)$$

$$d \times (3d + 5d) = d \times 8d = 8d^2$$

$$5 \times h \times h - 2 \times h \times h = 5h^2 - 2h^2 = 3h^2$$

$$4 - (a \times b + 7) = 4 - (ab + 7)$$

$$a \times b \times (c - d) + (2 - a) \times 3 = ab(c - d) + 3(2 - a)$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) = 6x(5 - x) + 4(2 - x)$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x = 2x$$

$$y \times 3 = 3y$$

$$a \times b \times c = abc$$

$$4 \times a \times 5 = 20a$$

$$4h + 9h = 13h$$

$$4 \times (a - b) = 4(a - b)$$

$$(4 - x) \times 7 = 7(4 - x)$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) = 4(4 - a) + a(8 - 4x)$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t = 8(7 - 3x) - 4yt$$

$$a \times a = a^2$$

$$2 \times b \times b = 2b^2$$

$$5t \times 8t \times t = 40t^3$$

$$c \times c \times c \times 3 = 3c^3$$

$$a \times a + b \times b = a^2 + b^2$$

$$5h \times 7h \times d = 35h^2d$$

$$a \times b \times a = a^2b$$

$$x \times y \times x \times y \times x = x^3y^2$$

$$x \times x \times (y - 4 \times x) = x^2(y - 4x)$$

$$7 \times (x - 3 \times x \times x) = 7(x - 3x^2)$$

$$7x \times x = 7x^2$$

$$ab \times ab = a^2b^2$$

$$a \times b \times a \times b \times a = a^3b^2$$

$$2 \times t \times m = 2tm$$

$$y \times 5 \times h = 5yh$$

$$a^2 \times b^3 \times c = a^2b^3c$$

$$4 \times a \times a^3 = 4a^4$$

$$4a - 3 \times a = 4a - 3a = a$$

$$5x^2 - x \times 3x = 2x^2$$

$$a^2b \times ab^2 = a^3b^3$$

$$2h + 6 \times h - 3h = 5h$$

$$(2 + y \times y) \times 3 \times (t + t - 3) = 3(2 + y^2)(2t - 3)$$

$$d \times (3d + 5d) = d \times 8d = 8d^2$$

$$5 \times h \times h - 2 \times h \times h = 5h^2 - 2h^2 = 3h^2$$

$$4 - (a \times b + 7) = 4 - (ab + 7)$$

$$a \times b \times (c - d) + (2 - a) \times 3 = ab(c - d) + 3(2 - a)$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) = 6x(5 - x) + 4(2 - x)$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x =$$

$$y \times 3 =$$

$$a \times b \times c =$$

$$4 \times a \times 5 =$$

$$4h + 9h =$$

$$4 \times (a - b) =$$

$$(4 - x) \times 7 =$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) =$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t =$$

$$a \times a =$$

$$2 \times b \times b =$$

$$5t \times 8t \times t =$$

$$c \times c \times c \times 3 =$$

$$a \times a + b \times b =$$

$$5h \times 7h \times d =$$

$$a \times b \times a =$$

$$x \times y \times x \times y \times x =$$

$$x \times x \times (y - 4 \times x) =$$

$$7 \times (x - 3 \times x \times x) =$$

$$7x \times x =$$

$$ab \times ab =$$

$$a \times b \times a \times b \times a =$$

$$2 \times t \times m =$$

$$y \times 5 \times h =$$

$$a^2 \times b^3 \times c =$$

$$4 \times a \times a^3 =$$

$$4a - 3 \times a =$$

$$5x^2 - x \times 3x =$$

$$a^2b \times ab^2 =$$

$$2h + 6 \times h - 3h =$$

$$(2 + y \times y) \times 3 \times (t + t - 3) =$$

$$d \times (3d + 5d) =$$

$$5 \times h \times h - 2 \times h \times h =$$

$$4 - (a \times b + 7) =$$

$$a \times b \times (c - d) + (2 - a) \times 3 =$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) =$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x =$$

$$y \times 3 =$$

$$a \times b \times c =$$

$$4 \times a \times 5 =$$

$$4h + 9h =$$

$$4 \times (a - b) =$$

$$(4 - x) \times 7 =$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) =$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t =$$

$$a \times a =$$

$$2 \times b \times b =$$

$$5t \times 8t \times t =$$

$$c \times c \times c \times 3 =$$

$$a \times a + b \times b =$$

$$5h \times 7h \times d =$$

$$a \times b \times a =$$

$$x \times y \times x \times y \times x =$$

$$x \times x \times (y - 4 \times x) =$$

$$7 \times (x - 3 \times x \times x) =$$

$$7x \times x =$$

$$ab \times ab =$$

$$a \times b \times a \times b \times a =$$

$$2 \times t \times m =$$

$$y \times 5 \times h =$$

$$a^2 \times b^3 \times c =$$

$$4 \times a \times a^3 =$$

$$4a - 3 \times a =$$

$$5x^2 - x \times 3x =$$

$$a^2b \times ab^2 =$$

$$2h + 6 \times h - 3h =$$

$$(2 + y \times y) \times 3 \times (t + t - 3) =$$

$$d \times (3d + 5d) =$$

$$5 \times h \times h - 2 \times h \times h =$$

$$4 - (a \times b + 7) =$$

$$a \times b \times (c - d) + (2 - a) \times 3 =$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) =$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x =$$

$$y \times 3 =$$

$$a \times b \times c =$$

$$4 \times a \times 5 =$$

$$4h + 9h =$$

$$4 \times (a - b) =$$

$$(4 - x) \times 7 =$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) =$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t =$$

$$a \times a =$$

$$2 \times b \times b =$$

$$5t \times 8t \times t =$$

$$c \times c \times c \times 3 =$$

$$a \times a + b \times b =$$

$$5h \times 7h \times d =$$

$$a \times b \times a =$$

$$x \times y \times x \times y \times x =$$

$$x \times x \times (y - 4 \times x) =$$

$$7 \times (x - 3 \times x \times x) =$$

$$7x \times x =$$

$$ab \times ab =$$

$$a \times b \times a \times b \times a =$$

$$2 \times t \times m =$$

$$y \times 5 \times h =$$

$$a^2 \times b^3 \times c =$$

$$4 \times a \times a^3 =$$

$$4a - 3 \times a =$$

$$5x^2 - x \times 3x =$$

$$a^2b \times ab^2 =$$

$$2h + 6 \times h - 3h =$$

$$(2 + y \times y) \times 3 \times (t + t - 3) =$$

$$d \times (3d + 5d) =$$

$$5 \times h \times h - 2 \times h \times h =$$

$$4 - (a \times b + 7) =$$

$$a \times b \times (c - d) + (2 - a) \times 3 =$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) =$$

Simplifier le plus possible l'écriture des expressions :

$$2 \times x =$$

$$y \times 3 =$$

$$a \times b \times c =$$

$$4 \times a \times 5 =$$

$$4h + 9h =$$

$$4 \times (a - b) =$$

$$(4 - x) \times 7 =$$

$$4 \times (4 - a) + a \times (8 - 4 \times x) =$$

$$8 \times (7 - 3 \times x) - 4 \times y \times t =$$

$$a \times a =$$

$$2 \times b \times b =$$

$$5t \times 8t \times t =$$

$$c \times c \times c \times 3 =$$

$$a \times a + b \times b =$$

$$5h \times 7h \times d =$$

$$a \times b \times a =$$

$$x \times y \times x \times y \times x =$$

$$x \times x \times (y - 4 \times x) =$$

$$7 \times (x - 3 \times x \times x) =$$

$$7x \times x =$$

$$ab \times ab =$$

$$a \times b \times a \times b \times a =$$

$$2 \times t \times m =$$

$$y \times 5 \times h =$$

$$a^2 \times b^3 \times c =$$

$$4 \times a \times a^3 =$$

$$4a - 3 \times a =$$

$$5x^2 - x \times 3x =$$

$$a^2b \times ab^2 =$$

$$2h + 6 \times h - 3h =$$

$$(2 + y \times y) \times 3 \times (t + t - 3) =$$

$$d \times (3d + 5d) =$$

$$5 \times h \times h - 2 \times h \times h =$$

$$4 - (a \times b + 7) =$$

$$a \times b \times (c - d) + (2 - a) \times 3 =$$

$$x \times (5 - x) \times 6 + 4 \times (2 - x) =$$